107!

1072

107

Ratio

-10 -8 -6 -4 20 2 4 6 810

| pull of qoverp parameter

107!

1072

1034

1ot LR

Ratio
=

0.5

—10—8—6—4 20 2 4 6 810

= EgMngEﬁtggéH NEWT203

[ pull of @parameter |

107}

1072

10

Ratio

—1086420246810

[ pull of dxy parameter

a7 0.Q %%
. td Dev
107 -1 8.3815
E TIes
r aB 0.00
i onslam 8 88? 1
1072 ek gt I

Ratio

.L086420246810

[ pull of 6 parameter |

rnes
L
107t b o
Eoror L N
- . -0.

i Rl
10—2__ P .enes _0._0
E N trﬂgev

- . tant .
F onsaan _8$
s - TN i
Bt B B
£ boiocielideleBal i
o t I
[ T Mg :
3 & eel ¢ ‘ o e
S S S T PSS SO
. ‘. -‘ . I ‘
-10 -8 -6 4 2 0 2 4 6 8 10

[ pull of dz parameter

107}

1072

=
S
w
T

Ratio

-10 -8

—6420246810



	Contents
	Page 1


